Homework:
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Si mplifying Radicols
Direclions: Simplify dhe radical in simplest radical form
then combine like radicands.

Name: /(—,»- e

Alg. 1 - 0cl. 26 ~_Jlie on page 83

Direclions: Lypress each radical in simplest radical Form.

(hint: find 2 faclors of the number inside the radical. Aake sure one of ihe faclors is
the larges! perfect square.)
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Direclions: Express each radical in simplest radical Form.

(hint: find 2 faclors of the number inside the radical. Make sure one of ihe Faclors is
{he larges! perfec! square)
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6.) Find the perimeler of the Iriangle below.
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Direclions: Simplify each expression by combining like lerms.
(hink:you can only combine (add or sublract) if the radicals have the same radicand.)
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Direclions: Simplify each expression by combining like lerms.
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